nel= {b =Blw, at[1]1h[1]+ Bt[1]1h[2] + ¥t [2]h[1]],
b // thswap[l, 1],
b /73 // thswap[l, 1] // K

}
w+owcq hil h[2
W h[l] h[2] (1] [ ]C
t[1] o ayCz Byc2
out[9]= { t[1] o I5] , 1+ Cy l+0Cy |
t[2] Y 0 Y _ By
t [2] l+acy l+acCy
_ aCy+y C
w(1+7< L ““1) hi1] hi2]
aCi+y Co
t [1J e%®177% o (aC1+y C2) @?€1*¥% B (o Cy+y C2)
@2C1*¥C% o Cy+y Co €91 C2 o Cy+y Cp
t[2] v (aCi+¥ Ca) _ (-1l+e®®17r%2) By ey
@*®1" % qCcy+y Ca e’ 1% qcy+y C2

n1o= {b = Blw, at [1]1h[1]],
b 7/ thswap[l, 1],
b /73 7/ thswap[l, 1] // K
}

out[10}= {(t w h[l] )’ (w+awc1 h[1] ),

“¢rw h[l]
(1] o t[1] 0! i )}

t[1] a

n1= {b = Blw, Bt [1]1h[2]],
b /7 thswap[l, 11,
b /73 7/ thswap[l, 1] 7/ K

}

- w h[2] w h[2] ) h([2]
O“t“”’{(t[ll B ) (t[l] B ) (t[ll B )}
nizi= {b = Blw, ¥t [2] h[1]],

b /7 thswap[l, 11,
b /73 // thswap[l, 1] // K
}

i w h[l] w h[l] w h[l]

O“I“ZJ’{(tm ¥ ) (tm Y ) (t[z} ¥ )}

In[13]:= {b = B[w, &t [2] h[2]],
b // thswap[l, 1],
b /73 /7 thswap[l, 1] // K
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ni4= {b = Blw, at[1]1h[1] +Bt[2]1h[2] +¥t[3]h[1l]],
b // tm[1, 2, 17,
b /7 tm[l, 2, 11 // thswap[1, 11,
b // thswap[2, 1] // thswap[l, 1] // tm[l, 2, 1],
b // thswap[2, 1]
}

w h[1l] h[2] .
out[14]= { : S} g g t[1] o A t[1] 1&;;
t[3 0 Y
ti3] ¥y 0 By tel
wrawc; h[1] h[2] w  h[l] hi2]
t[1] a+f7fi /3+fY7°3 t[1] o -af3Cy
rac C 1t [2] 0 B (l+oacy+ycCa)
t (3] Y _Bya -
Tracy Troc, t [3] Y ByCz

niel= {b = B[w, at [1]1h[1l] + yt[2]1h[1l] +6t [2] h[2]],
b /7 thswap[l, 11,
b /73 7/ thswap[l, 1] 7/ K
}

w+owcq hil] h[2]

w h[l] h[2] ay s
out[16]= { t[1] a 0 , t1] At oo )
t[2) vy 5 t[2] . ZC 5
+ 1
(-1l+e*%1*¥%) acy
u)(ler) h[l} h[Z}
e*®1"Y% o (aCy1+y C2)
t 1] Seees o |}
t [2} ¥ (acCi+y C2) 5

e%€1*Y % g Ccy+y Cp




